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Frzsk(a+bla-b)=a’ —b*;
e P MAR (a+b) =a® +2ab+b*;
e P EAR(a—b) =a® —2ab+b*;
s SrHMAR G +b° =(a+b)(a® —ab+b?);
ARG —b =(a—b)a’ +ab+b*);
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1. R

(1) 8x%? - 18; (2) 44% - 16; (3) (X2-1) 248 (1-xP.
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2.

pay Sk

(D) (y-1)2-10 (y-1) +25; (2) (x+2) (x+4) +1;

(3) x* - 18x52+81)%,; 4) *-1)2%-6 (*-1) 49;

(5) 2a°b - 4a*b*+2ab>; (6) (m?-4m) *+8 (m? - 4m) +16.
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3. Al

(1) 1427x°; (2) - 8b%; (3) m® - n® (4) x0-1729)0.
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4. iR

(1) (b-¢) 3+ (c-a) 3+ (a-b) 3 (2) (xhyptz) 3-x3-33 -2,
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5. Bt a, b, i atbte=0, a2+b2+c2=1—10, R a*+bct .

6. OH: a=2008x+2007, b=2008x+2008, ¢=2008x+2009, 3K a*+b*+c? - ab - bc - ac MI1H.



